LOWEST

SECONDARY

HANG CONTROLLER ON
POLE AWAY FROM LIGHTS

Q00

>

100A - 240V
60A - 480V
C | 100A - 480V

o

REVISED:

.

DATE:

APPROVED:

~A

MEDIAN STREET
LIGHT RISER

Y GARLAND )

POWER&LIGHT
APPROVED:

STANDARD NO.:

A UG - 2921 /




CONSTRUCTION STANDARD NO. : UG-2921A

TITLE: MEDIAN STREET LIGHT RISER 240V 100 AMP REV. DATE:  5/21/2002
PIC. # DESCRIPTION IBM NO. QTY.
1 CONTROLLER PHOTOELECTRIC 1000 528-65-12070 1
2 RELAY ST LIGHT TWO POLE 100 AMP 120/240 V 528-72-13010 1
3 BOLT MACHINE 5/8" X 12" W/INUT 285-08-10786 2
4 BOLT MACHINE 5/8" X 14" W/NUT 285-08-10788 3
5 STRAP 2" FOR 2" CONDUIT W/2 BOLTS ALUMAFORM STK-2 285-14-11570 3
6 SERVICE HEAD 2IN - NON STOCK ITEM 000-00-00036 1
7 SCREW LAG SQ HEAD 1/2" X 4" GA 285-08-14120 3
8 NUT WASHER 5/8" THREAD JOSLYN 285-08-14674 5
9 CONDUIT RIGID 2" GALV 10' LENGTH 285-14-14095 3
10 CLAMP CONDUIT GROUNDING 2" 285-35-16010 1
11 BRACKET, CONDUIT EXTENSION SUPPORT 12", ALUMAFORM 6CS0-12 285-38-11525 3
12 ROD GROUNDING 5/8" X 8' 285-36-15108 1

Monday, November 07, 2005

UG-2921A

CYORK




CONSTRUCTION STANDARD NO. : UG-2921B

TITLE: MEDIAN STREET LIGHT RISER 480V 60 AMP REV.DATE:  5/21/2002
PIC. # DESCRIPTION IBM NO. QTY.
1 CONTROLLER PHOTOELECTRIC 1000 528-65-12070 1
2 RELAY ST LIGHT TWO POLE 60 AMP 240/480 V 528-72-13020 1
3 BOLT MACHINE 5/8" X 12" W/NUT 285-08-10786 2
4 BOLT MACHINE 5/8" X 14" W/NU'I; 285-08-10788 3
5 STRAP 2" FOR 2" CONDUIT W/2 BOLTS ALUMAFORM STK-2 285-14-11570 3
6 SERVICE HEAD 2IN - NON STOCK ITEM 000-00-00036 1
7 SCREW LAG éQ HEAD 1/2" X 4" GA 285-08-14120 3
8 NUT WASHER 5/8" THREAD JOSLYN 285-08-14674 5
9 CONDUIT RIGID 2" GALV 10' LENGTH 285-14-14095 3
10 CLAMP CONDUIT GROUNDING 2" 285-35-16010 1
1 BRACKET, CONDUIT EXTENSION SUPPORT 12", ALUMAFORM 6CSO-12 285-38-11525 3
12 ROD GROUNDING 5/8" X 8’ 285-36-15108 1

Monday, November 07, 2005

UG-29218B

CYORK



